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""Mala Looks Pretty."

Give the correct Antonym of the word

*-'Pretty’ as used in the above sentence.

(A) Sine
(©) Ugly

(B) Rough

(D) Tough
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Change the noun 'Application' into its verb
form:

(A) Appli (B) Appli

(C) Applicable (D) Apply

Find the suitable Adjective of the given
word :

AFFECTION

(A) Affectionate (B) Affect

(C) Affectionately (D) Affecting
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Fill in the blanks with suitable Gerund:
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(A) drink (B) drank

(C) bedrunk (D) drinking

. Fill in the blanks with right infinitive :
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Find the correct Adverb form of A ffection’.
(A) Affectionate (B) Affect

(C) Affectionately (D) Affluent

3 ;ﬁrh (CH,) ¥ %58 R +1 99 (Bond)
? :

(A) THA (B) ===

() feu= (D) ¥ | w¥ Wl
. Find the Plural form of the word "Thief .

(A) Thiefs (B) Thiefes

(C) Thives (D) Thieves
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